
Quest ce que le cadeau  J' - ? ( )Quel nombre se trouve dans chaque cadeau?
8 × 7 = 6 × 3 = 7 × 3 =7 × 2 = 6 × 3 = 4 × 6 =7 × 6 = 6 × 4 = 7 × 4 =3 × 2 = 8 × 6 = 9 × 5 =3 × 9 = 8 × 8 = 7 × 2 =2 × = 12 9 × = 36 8 × = 247 × = 28 4 × = 16 4 × = 243 × = 27 6 × = 54 2 × = 64 × = 36 2 × = 10 8 × = 169 × = 63 4 × = 12 2 × = 8× 5 = 45 × 3 = 12 × 9 = 63× 6 = 30 × 5 = 10 × 8 = 64× 5 = 35 × 6 = 48 × 4 = 28× 5 = 10 × 3 = 9 × 8 = 48× 3 = 24 × 2 = 18 × 4 = 20
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Quest ce que le cadeau  J  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
8 × 7 = 56 6 × 3 = 18 7 × 3 = 217 × 2 = 14 6 × 3 = 18 4 × 6 = 247 × 6 = 42 6 × 4 = 24 7 × 4 = 283 × 2 = 6 8 × 6 = 48 9 × 5 = 453 × 9 = 27 8 × 8 = 64 7 × 2 = 142 × 6 = 12 9 × 4 = 36 8 × 3 = 247 × 4 = 28 4 × 4 = 16 4 × 6 = 243 × 9 = 27 6 × 9 = 54 2 × 3 = 64 × 9 = 36 2 × 5 = 10 8 × 2 = 169 × 7 = 63 4 × 3 = 12 2 × 4 = 89 × 5 = 45 4 × 3 = 12 7 × 9 = 635 × 6 = 30 2 × 5 = 10 8 × 8 = 647 × 5 = 35 8 × 6 = 48 7 × 4 = 282 × 5 = 10 3 × 3 = 9 6 × 8 = 488 × 3 = 24 9 × 2 = 18 5 × 4 = 20
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